sf| 3 | £ RABREFERIAKRE R—IH BE
HEs | S# 3 & 10 B 16 A( £ ) ~ 10 5 17 88 )
T RBAAR—~a—R 2000 m
A B3—N\AH15 NEFE | i K& H 15 A=A &AM KEH 5
BT XY
B L - 52 8% JIL—% i = JIE{L - 52 8% HIL—%
: HH=[=A . _HH
8:25.64 i B 10:01.05 T AOE
. HHA
8:46.35 B
S8 . HHB R,
SUTILAAIL | 3 | 92697 B SUTILAAIL| 3
4
5
: HH
DB S H&EB_B NS | S B
B %?FTBBRA@ S B
FTILRAI —= FTILRAI
3 | 7:46.24 E'EE—BRB*
i S B B {kik S B
4 S B S B
HH HH
74177 | cAf £ SEIR 3R 7:44.49 | c.ohie S:HE 3.FE
2:Z%1LiE B:IRMA 25IH B/NE
7 ﬁﬂlé%?jgo L 8:23.10 C:;f;ﬂﬂiz}ﬁ'% 7 ﬁri‘fjgf’ L C:S: 3:
Ar) ) 3. E 2.5k BB #Ar) ) 2:B:
C:S: 3:
2: B:




